L 14

6. 99

16.

3)27

21. 86
+ 12
26. 78
— 33

Name:

Date:

&= leacher:

787

17.

3)12

22. 34
+ 10
27. 53
— 42

Class:

DAMS303

370
+ 10

8. 08
— 88

13.

18.

3)18

23. 57y
+ 21
28. 74
— 63

All four operations on one sheet

4 94
+ 11

9 70
- 30

14.

19.

3)21

24, 20
+ 50
29.  §g
— 45

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

5. 75
+ 11

10. 51
— 41

15.

20.

3)6

25. 20
+ 33
30. 98
— 38
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Score:



L 14

6. 99

2. 86
+ 12

98

26. 78
— 33

45

22.

27.

Answer Key

Date:

&= leacher:

34
+ 10

44

53
— 42

11

Class:

DAMS303

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

All four operations on one sheet

370
+ 10

80

8. 08
— 88
10

13. 8
x 3
24

18.

23. 57
+ 21

/8

28. 74
— 63

11

6
3)18

4.

19.

24,

29.

94
+ 11

105

70
— 30

40

6
x 3
18

-
3)21

20
+ 50

70

56
— 45
11

5.

10.

15.

20.

25.

30.

75
+ 11

10

3)6

26
+ 33

59

98
— 38
60
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Score:



